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1.A credit memo request was created for a customer's sales order.

What must a business user do to create the respective credit memo? Choose Two correct answers.
A. Create the credit memo with reference to the sales order.

B. Create the credit memo with reference to the credit memo request.

C. Ensure the billing block on the credit memo request is removed.

D. Ensure an order reason is entered in the credit memo request item.

Answer: B,C

2.You must ensure that a bill of material will explode to generate sub-items in as ales order.
What controls this functionality? Choose the correct answer.

A. The item category group of the material master in the sub-item

B. The item usage during the item category determination of each sub-item

C. The item type in the item category of the main item

D. The structure scope in the item category of the main item

Answer: D

3.Your project requires material determination in a sales order if the ordered material is NOT available.
How do you achieve this? Choose the correct answer.

A. Set up a material determination record with a suitable substitution reason.

B. Deactivate the material availability check and use material determination.

C. Set up the access sequence to perform a quantity check for the material.

D. Set up an availability check in the material determination record.

Answer: A

4.Your project requires shipment of several sales orders in one outbound delivery.
What must the sales orders have in common? Choose Three correct answers.

A. Ship-to party

B. Warehouse number

C. Route

D. Shipping point

E. Picking location

Answer: A,C,D

5.You need texts for shipping in a sales order. These are usually sourced from the ship-to party, but if they
are not maintained in the ship-to party, they should be sourced from the sold-to party.

Which of the following objects controls this behavior? Choose the correct answer.

A. Condition table

B. Access sequence

C. Text determination procedure

D. Text type

Answer: B
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